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For the purposes of this test: given the real numbers a and b, let the arithmetic mean be defined as 
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. Let the geometric mean be 
[image: image2.wmf]. Let the harmonic mean be defined as 
[image: image3.wmf].

1. Evaluate: 
[image: image4.wmf]




A. 39
B. 33
C. 35
D. 37
E. NOTA 

2. Solve for x:

3(x + 2) = 7x – 6    




A. 3
B. 2
C. -3
D. -2
E. NOTA 

3.  Sixty-four teams are entered in the NCAA March Madness Basketball Tournament, but there is only one champion.  If it is a single-elimination style tournament (play until losing), and every team that hasn’t lost plays one other unbeaten team each round, how many total games are played until there is one team left? 



A. 128
B. 127
C. 64
D. 63
E. NOTA

4. Solve for y:  
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A. 
[image: image6.wmf] 
B. 
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C. 
[image: image8.wmf]
D. 
[image: image9.wmf]
 E. NOTA 

5. For the solution to the following equations 
[image: image10.wmf] find x + y:

[image: image11.wmf]





A. -1
B. 0
C. 2
D. 4
E. NOTA 

6. Find the sum of all possible solutions to the equation 
[image: image12.wmf].





A. -9
B. -8
C. 0
D. 1
E. NOTA 

7. The perimeter of the rectangle YMCA is 24, and its area is 35.  What is the length of its longer side? 



A. 8
B. 7
C. 6
D. 5
E. NOTA  

8. Fifteen years ago George was thrice Buster’s age.  Now George is only twice Buster’s age.  How old is Buster now?  



A. 60
B. 45
C. 30
D. 15
E. NOTA  

9. Jimmy drove 70 mph out to California to see his bro Jeffy, but on his way home to Florida, Jimmy hauled it back at 90 mph.  If it’s a really really long way to California, what was his average speed in mph for the roundtrip?   



A. 70
B. 75
C. 80
D. 77
E. NOTA  

10. Tossing a fair coin, Betty Crocker got 6 heads in a row.  What is the probability that she scored a tail on the next flip?   



A. ½
B. ¼
C. 1/8
D. 63/64
E. NOTA 

11. Find the ordinate of y-intercept for the function 
[image: image13.wmf].

[image: image1.wmf]

A. 0
B. 4
C. -4
D. 7
E. NOTA  

12. Given the side lengths of 


the following triangle, find


the numerical value of the 


hypotenuse.



A. 6
B. 10
C. 12
D. 13
E. NOTA 

13. How many integer solutions fit the equation 
[image: image14.wmf]?



A. 1
B. 2
C. 3
D. 4
E. NOTA 

14. Find the sum of the arithmetic, harmonic and geometric means of 40 and 160.



A. 100
B. 244
C. 164
D. 180
E. NOTA 

15. Simplify
[image: image15.wmf], x, y, z, all cannot equal 0, and z > 0.



A. 
[image: image16.wmf]
B. 
[image: image17.wmf]
C. 
[image: image18.wmf]
D. 
[image: image19.wmf]
E. NOTA 

16. Factor 
[image: image20.wmf].   



A. (x + 2y)(2z – 4y + 7)
B. (z – 2y + 2x)(7x - 4y)



C. (x – y + 2z)(7x – 14y)
D. (x – y)(2x – y + 4z )
E. NOTA 

17. Frogs can hop over 6 lily pads, toads only 4.  Their hops both last 5 seconds, and they always take 3 second breaks between each hop.  Toad is ten lily pads ahead of Frog in Lake Trasamene, which is really really big and full of lily pads.  If Frog hops in the same direction that Toad hops, how many seconds does it take Frog to catch Toad, assuming the start simultaneously? 



A. 35 
B. 37 
C. 39
D. 41
E. NOTA 

18. Two trains are on the same track but in opposite directions towards each other.  One train is traveling at 14 mph and the other at 26 mph.  Suppose when the trains are 320 miles apart, a super rocket bee leaves the tip of the first train and heads directly towards the other train traveling 500 mph until when it finally gets to the other train it instantly turns around towards the original train.  If the super rocket bee continues this flight pattern until the trains collide, how much distance did the fly traverse?



A.  1000 mi.
B. 2000 mi.
C. 4000 mi.
D. 8000 mi.
E. NOTA 

19. Find the area enclosed by the region 
[image: image21.wmf].



A. 25
B. 40
C. 24
D. 48
E. NOTA 

20. The trinomial 
[image: image22.wmf] can be factored into the form (x – a)(x – b).  What is an ordered pair (a, b) that meets this criteria?



A. (2, 6)
B. (3,4)
C. (-2, 6)
D. (-3, -4) 
E. NOTA 

21. What is the probability of getting at least 2 heads when flipping three fair coins?



A. 2/3 
B. 1/3 
C. ½
D. ¼
E. NOTA 

22.  Bobby Zim can make one roll of sushi in five minutes, and he can slice that same roll into 6 sections in half a minute. Usually he enjoys three rolls of  California style sushi.  However, even Bobby wants to speed up his Sushi slicing.  So if instead Bobby makes all 18 sections from one extra long roll, and it takes the same five minutes to make the California roll and each cut requires the same time as each cut before, in how many minutes can he be eating his delicious cuisine?



A.  6 min 48 sec
B. 6 min 5 sec 




C. 6 min 10 sec
D. 6 min 42 sec 
E. NOTA 

23.  Gainesville, Florida is one of the rare spots in the world where Palm, Pine, Oak, and Magnolia all flourish.   Palms and Magnolias make up about 25 % of all the smaller tree species, whereas Pine and Oak are about 75% of all the larger tree species in Gainesville.  If there are twice as many smaller trees as larger trees in the county of Alachua (pronounced A-lach-u-ay), then what is the ratio of Palm and Magnolia, to Pine and Oak?



A. 1: 1
B. 2:3
C. 1: 3
D. 2: 1
E. NOTA 

24. How many ways can you rearrange the letters in the word DATA?   The rearrangements do not necessarily have to spell a “word.”



A. 4
B. 6
C. 18
D. 24
E. NOTA 

25. Find the sum of all solutions to the equation 
[image: image23.wmf].



A. -5
B. -2
C. 3
D. 5
E. NOTA 



26. Consider a two digit number XY, X not equal to Y and both not equal to 0, that when squared becomes the three digit ABC.  Sometimes, it can happen that “the reverse” of ABC, CBA is likewise the square of YX, “the reverse” of XY.   Find the sum of all two digit numbers where this is the case.



A. 77
B. 66
C. 67
D. 76
E. NOTA 

27. Find the number of integer solutions to the following equation 
[image: image24.wmf]


A. 8
B. 6
C. 4
D. 2
E. NOTA 

28. If a and b are the roots to the quadratic equation 
[image: image25.wmf] then find 
[image: image26.wmf]


A. 5/2
B. 7/2
C. -3/2
D. -9/2
E. NOTA 

29.  Which property of addition validates this equality statement: x + y = y + x?



A. Commutative Property
B. Symmetric Property




C. Associative
Property
D. Distributive Property
E. NOTA 

30. A string of 2007 consecutive digits starts with 6.  Every pair of consecutive digits is either divisible by 17 or 23.  What is the last digit?



A. 2
B. 3
C. 6
D. 9
E. NOTA 
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